[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.044
0.005

s

o i i ML I I 30N RN RN RRRRN RARRN LARRE RRRLN LRRR

=
2
N

10 1 10 0?
TP vertr (cr%)

TT_original_low

T
TTfnewbranchfFowpt

_TT_original_lowpt_pLess
TT newbranch_lowpt_plLess

.....................................

...............................

............................

At D

00 200 20

[ Efficiency vs. sim PV z |

~0.05
>
£0.045
£
50.04
9.035
3
20.03
k)
9.025
[J]
0.02
0.015
0.01

0.005

10

Ratio

1.1

|

N
O

|

A

[(6)]

|

[
o

|

al
ofigE=: - F
6]

b
(@]
[l N
ol
N
o

Sim. PV z (cm)




	Contents
	Page 1


